PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Total Units of	
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				67,018	cords	
Hardwood				56,433	cords	
Pulpwood (Total)				123,451		
Chip & Saw				5,453	cords	
Saw Timber						
Pine				42,635,836	board feet	
Hardwood				5,272,449	board feet	
Saw Timber (Total)				47,908,285		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill	,					\$31,392,667
Total Forestry Stumpage						\$19,618,658
Christmas Trees	*			250	trees	\$10,000
Pine Straw	*				bales (40 lbs.)	\$30,400
Forestry (Total)		0.0		- )		\$31,433,067
FRUITS		0.0				. , ,
Blackberries	*	1.0	400.00	400	pints	\$400
Blueberries	*	1.5	2,000.00	3,000	1	\$3,750
Mayhaws			,	,		
Orchard	*	5.0	250.00	1,250	lbs.	\$1,875
Mayhaws (Total)		5.0		,		\$1,875
Muscadines						
Fresh	*	5.0	160.00	800	gals	\$6,400
Muscadines (Total)		5.0			-	\$6,400
Peaches	*	30.0	200.00	6,000	bu.	\$180,000
Fruits (Total) FEED GRAINS		42.5		,		\$192,425

Page 1 of 6

PLANT ENTERPRISES PRODUCTION							
Crop	Number of Producers	Acres	Yield per Acre		Total Production	Units of Measure	Gross Farm Value
FEED GRAINS							
Corn	*	198.0	150.00		29,700	bu.	\$67,419
Feed Grains (Total)		198.0					\$67,419
GREENHOUSE VEGETABLE							
Tomatoes	*	10,000.0	5.60	Yield / sq. ft.	56,000	lbs.	\$75,600
Greenhouse Vegetables (Total)		10,000.0					\$75,600
HAY FOR SALE							
Grass	25	8,000.0	4.00		32,000	tons	\$1,600,000
Hay for Sale (Total)		8,000.0					\$1,600,000
HOME GARDENS	2,600						\$780,000
NURSERY CROPS							
Fruit and Nut Trees	*					acre	\$160,000
Floraculture & Bedding Plants	*					acre	\$500,000
Woody Ornamentals	*					acre	\$20,000
Foliage Plants	6					acre	\$15,000
Nursery Crops (Total)							\$695,000
VEGETABLES							
Cantaloupe	*	3.0	150.00		450	cartons (40 lbs.)	\$6,750
Collards							
Fresh	6	4.0	600.00		2,400	doz. bunches	\$16,800
Collards (Total)		4.0					\$16,800
Mustard (Fresh)	6	4.0	600.00		,	doz. bunches	\$16,800
Okra (Fresh)	7	10.0	250.00		2,500		\$62,500
Snap Beans (Fresh)	6	12.0	100.00		· · · ·	bu. (30 lbs.)	\$30,000
Southern Peas (Fresh)	22	20.0	100.00		,	bu. (24 lbs.)	\$50,000
Sweet Corn (Fresh)	*	6.0	400.00		2,400	doz. ears	\$8,400

Page 2 of 6

PLANT ENTERPRISES PRODUCTION							
Сгор	umber of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value	
VEGETABLES							
Tomatoes (Field)	*	20.0	1,000.00	20,000	lugs (20 lbs.)	\$360,000	
Turnips (Fresh)	6	5.0	600.00	3,000	doz. bunches	\$21,000	
Watermelon	*	40.0	100.00	4,000	cwt.	\$32,000	
Vegetables (Total)		124.0				\$604,250	
TOTAL ALL PLANT ENTERPI	RISES					\$35,447,761	

	FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value		
AQUACULTURE								
Catfish (Farm)	*	4	Acres in Prod.	7,400	lbs.	\$5,032		
Minnows	*	10	Acres in Prod.	500	lbs.	\$1,625		
Fish bait	*			1,000	lbs	\$6,000		
Other Species	*	20	Acres in Prod.	3,500	lbs.	\$42,000		
Aquaculture (Total)						\$54,657		
FUR ANIMALS				108	pelts	\$793		
HUNTING LEASES					*			
All Other Game	410	200,100	No. Acres Leased		acre	\$1,100,550		
Hunting Leases (Total)						\$1,100,550		
HONEY	*	40	No. Hives	3,600	lbs.	\$2,664		
TOTAL ALL FISHERIES	& WILDLIFE ENTERPRISES					\$1,158,664		

ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
CATTLE & CALVES							
Steer Calves							
300-400 lbs.			4,007	head	\$1,774,660		
400-500 lbs.			2,200	head	\$1,110,582		
500-600 lbs.			1,400	head	\$782,705		
600-700 lbs.			150	head	\$95,550		
Steer Calves (Total)					\$3,763,497		
Heifer Calves							
300-400 lbs.			3,010	head	\$1,213,527		
400-500 lbs.			1,000	head	\$465,075		
500-600 lbs.			751	head	\$396,404		
600-700 lbs.			350	head	\$209,300		
Heifer Calves (Total)					\$2,284,306		
Yearling Cattle							
600-700 lbs.			530	head	\$337,610		
700-800 lbs.			520	head	\$358,800		
Yearling Cattle (Total)					\$696,410		
Cow-Calf Pairs			610	pair	\$579,500		
Cull Cows				head	\$248,434		
Cull Bulls			120	head	\$110,214		
Cattle & Calves (Total)	287	15,140 No. Cows			\$7,682,361		
DAIRY							
Dairy Cows							
Milk	*	110 No. Adult Cows	1,275,335	pounds	\$210,175		
Cull Cows				head	\$10,125		
Bull Calves			56	head	\$3,360		
Breeding Age Bulls			1	head	\$1,100		
Dairy Cows (Total)					\$224,760		

Page 4 of 6

	ANIMA	AL ENTERPRISE:	S PRODUCTIO	N		
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
DAIRY						
Dairy Goats	*	10	Total Adult		Pounds	
			Does			
Dairy (Total)						\$224,760
HORSES						
Brood Mares						
Race Horses	20		No. Brood Mares		head	\$200,000
Show Horses	35		No. Brood Mares		head	\$150,500
Recreation Horses	46	940	No. Brood Mares	162	head	\$243,000
Brood Mares (Total)						\$593,500
Stud Fees						
Race Horses			No. Stallions	20	mares bred	\$40,000
Show Horses		10	No. Stallions	50	mares bred	\$75,000
Recreation Horses		10	No. Stallions	73	mares bred	\$14,600
Stud Fees (Total)						\$129,600
Race Horses	20			340	head	\$3,400,000
Show Horses	35			450	head	\$1,800,000
<b>Recreation Horses</b>	46			950	head	\$1,425,000
Horses (Total)						\$7,348,100
POULTRY						
Broilers	*			6,487,000	lbs.	\$4,865,250
Edible Eggs	*		No. Hens	1,010	doz. eggs sold	\$848
Cull Hens				904,594	lbs.	\$135,689
Breeder Flocks	*	122,500	No. Birds	1,531,250	doz. hatching eggs sold	\$581,875
Poultry (Total) RABBITS						\$5,583,663
Fryers	*	252	No. Animals	610	lbs.	\$488

#### ANIMAL ENTERPRISES BRADUCTION

Page 5 of 6

		AL ENTERPRISES PRODUCT			
A · 1	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
RABBITS					
Does	*	100 No. Animals	1,500	lbs.	\$225
Rabbits (Total)					\$713
QUAIL	*	160 No. Breed	530	each	\$1,060
		Stock			
GOATS					
Show Goats			20	head	\$3,700
Slaughter Goats			60	head	\$6,300
Stocker Goats			25	head	\$2,125
Cull Goats			30	head	\$1,800
Goats (Total)	10	150 No. Does			\$13,925
SWINE					
Show Pigs			25	head	\$8,250
Feeder Pigs			110	head	\$5,060
Slaughter Hogs			120	head	\$18,720
Culls			10	head	\$1,120
Swine (Total)	*	30 No. Sows			\$33,150
EXOTIC ANIMALS					
Deer/Antelope	*	4 No. Animals	0	head	\$0
Llama	*	6 No. Animals	0	head	\$0
Exotic Animals (Total)					\$0
TOTAL ALL ANIMAL EN	ITERPRISES				\$20,887,732
WEBSTER PARISH TO	OTAL				\$57,494,157